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NILACHAL EDUCATIONAL TRUST  

ODISHA VIDYARATNA AWARD 

CLASS – V 

Time : 3 Hrs. Full mark : 120 

Instructions to the candidates : 

� All questions are compulsory. Candidates should write the answers only in the blank space provided. 

�  Candidates are advised to attempt either the Odia medium or the English medium questions as per their 
choice. 

� There will be no negative marking for any wrong answer. 

� Do the rough works on the sheet attached at the end of question paper. 

ENGLISH 

A. Put the appropriate article. 

Q1. The cow is ______________ useful animal. 

Q2. ______________ Bhagabat Geeta is a holy book. 

Q3. This is ______________ shortest route to school. 

Q4. My mother is ______________ European. 

Q5. My uncle is ______________ L.I.C officer. 

B. Write abstract noun. 

Q6. True   -  ______________ . 

Q7. Wise  -  ______________ . 

Q8. Strong  -  ______________ . 

Q9. Beautiful  -  ______________ . 

Q10. Kind   -   ______________ . 

C. Write plural forms. 

Q11. Photo  -  ______________ . 

Q12. Deer  -  ______________ . 

Q13. Woman  -  ______________ . 

Q14. Country  -  ______________ . 

Q15. Thief  -  ______________ . 

D. Write opposite genders. 

Q16. Tiger  -  ______________ . 

Q17. Nephew  -  ______________ . 

Q18. Actor  -   ______________ . 

Q19. Landlord  -  ______________ . 
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Q20. Emperor  -  ______________ . 

E. Write opposite words. 

Q21. Bend  -  ______________  . 

Q22. Less  -  ______________ . 

Q23. Wet   -  ______________ . 

Q24. Visible  -  ______________ . 

Q25. Huge  -  ______________ . 

F. Use correct form of verb given in the brackets. 

Q26. My father has ______________ a new car. (buy) 

Q27. The teachers have ______________ the lesson. (teach) 

Q28. My mother ______________  to temple regularly. (go) 

Q29. They are ______________  very seriously. (fight) 

Q30. One of my friends ______________ cricket well. (play) 

G. Insert correct preposition. 

Q31. She goes to school ______________ bus.  

Q32. Teacher’s day is celebrated ______________ September. 

Q33. He is good ______________ mathematics. 

Q34. She divided the cake ______________ her five children. 

Q35. He wrote the letter ______________ a pen. 

H. Use correct pronouns. 

Q36. The woman ______________ lives next door has won a lottery. 

Q37. They do their work ______________ . 

Q38. He does his work ______________ . 

Q39. Ram is the boy ______________ I want. 

Q40. ______________ am talking with my friends. 

SCIENCE 

Q1. Lû\ý @ûc geúeùe ______________ aXÿûA[ûGö 

Food increase ______________ in our body. 

Q2. bòUûcú^þ – Wÿò @bûaeê adÄ ùfûKcû^uê ______________ ùeûM ùjûA[ûGö 

Lack of Vitamin - D in aged people causes ______________ . 

Q3. ______________ cgû KûcêWÿòùf aûZRße jêGö 

______________ mosquito bite causes filariasis. 

Q4. ùeûMe _âZòùeû] _ûAñ lZ ùjaûe 24 N�û c¤ùe ]^êÁuûe ^òùeû]K Aù¬Ki^þ aû 

_____________  ù^aû @ûagýKö 
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We should take ______________ within 24 hours after getting injured to prevent 

disease. 

Q5. c\ _òA MûWÿò PkûC[ôaû aýqò ______________ ùciò̂ þ \ßûeû ]eû _Wÿòùf ùRûeòcû^û ù\A[ûGö 

A driver who has consumed alcohol can be detected by the help of ____________ 

machine. 

Q6. ù\gùe aWÿ aWÿ ijeKê iõù~ûM Keê[ôaû iWÿKKê ______________ Kj«òö 

The road way which connects to big cities are called ______________ . 

Q7. ______________ ùcûUe ~û^ @ûKÖ @ ê̂~ûdú 100 Uuû _~ðý« ùRûeòcû^û Keû~ûG, ù~ùZùaùk 

ùKøYiò aýqò I Zû’ _Qùe aiò[ôaû aýqò ùjfùcUþ _ò§ò^[ôùaö 

According to the RTO Act number ______________, rupees 100 can be imposed as 

penalty to the person who drives along with pillion without helmet. 

Q8. IWÿògûe GK a¦ee ^ûc ______________ ö 

The name of one port in Odisha is ______________ . 

Q9. @ûc geúeùe ______________ Uò jûWÿ @Qòö  

In our body total number of bones is ______________ . 

Q10. ______________ ùjCQò _âgÉ _Wÿò@û, ù~CñVò ùjfòK_þUe @aZeY Kùeö 

The Helicopter lands on a large ground called as ______________ . 

Q11. 2001 ùe R^iõLýû 1951 R^iõLýûe _âûd ______________ MêY ùjûA~ûAQòö 

The population of 2001 increases _________ times than the population during 1951. 

Q12. iaêVûeê aéj c Mâje ^ûc ______________ ö 

The name of the largest planet is _____________ . 

Q13. @_eû]Kê KùVûe \Š ù\aû aýaiÚû Keû~òaû CPòZþ, Gjû GK ______________ C_ûdö 

The criminals must be punished strictly this is one of the ways of ______________ . 

Q14. @iZþ PeòZâ aýqòcûù^ icûRùe ______________ iéÁò Ke«òö 

Wicked character people create ______________ in the society. 

Q15. “MYZª ùjCQò ùfûKcû^ue, ùfûKcû^u \ßûeû I ùfûKcû^u _ûAñ” Gjò CqòUò Kjò[ôaû cjû_êeêhu 

^ûc ______________ö 

“Democracy is for the people, by the people and of the people”. This statement was 

given by a great person whose name is ______________ . 

Q16. @ûc ù\g ùjCQò GK MYZª I ______________ eûÁâö 

Our country is a Democratic and ______________ country. 

Q17. ______________ iõiÚû Reò@ûùe Meòa ùfûKuê aòbò^Ü Kûc]¦û ù~ûMûA \ò@û~ûGö 
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By the help of ______________ organisation poor people gets employment. 

Q18. ùfûKibûùe IWÿògûe ibý iõLýû ______________ ö 

In Loksabha the number of members of Odisha is ______________ . 

Q19. ù\gùe @ûbý«eúY gévkû ______________ jûZùe [ûGö 

The internal discipline of a nation is in the hand of ______________ . 

Q20. ______________ ùfûKcû^uê Gaõ ~û^aûjû^ MêWÿòKê iêaò]û I  iêelû ij eûÉûùe ~ûZûdZ 

Keòaûùe iûjû~ðý Keòaû ijòZ \êNðUYûKê ùeûKò[û«òö 

 ______________ controls the people and vehicles on the road and save them from 

accidents  

Q21. 
  
Gjò iõùKZe cûù^ ______________ö 

 
 The meaning this symbol is ______________ . 

Q22. aòcû^ bòZeKê _âùag Kfûùaùk \ßûe ù\gùe Vò@ûùjûA _____________ @ûcKê ÊûMZ Ke«òö 

While entering to an aeroplane the ones who welcome the passenger at the gate are 

known as ______________ . 

Q23. ~ûZâúaûjú ùekMûWÿòùe UòKU ~û  aýqòuê ______________ Kj«òö 

In the passenger trains the one who check the ticker is know as ____________  

Q24. icMâ RûjûRe \ûdòZß RYK C_ùe ^ýÉ [ûGö Zûuê ______________Kj«òö 

The entire responsibility of a ship is carried by _____________ . 

Q25. ùUfòbòR þ̂e CnûaKu ^ûc  ______________ ö 

______________ invented Television. 

Q26. c^êhý geúeùe  ______________ gZKWÿû bûM Rk @ùUö 

In human body water is present by ______________ percentage. 

Q27. ùMäûaùe ______________ew \ò@û~ûA[ôaû @õg RkbûMö 

In the globe the water bodies are represented by ______________ colour. 

Q28. iÚkbûM Pûeò_ùU RkbûM [ôaûeê GjûKê ______________ Kêjû~ûGö 

A land surrounded by water bodies in all direction is known as _____________ . 

Q29. _âûKéZòK cû^PòZâùe ______________ ew cûkbêcòKê iìPûA[ûGö 

In the map of nature ______________ colour indicates mountain range. 

Q30. ùMûUòG @ ke ajêahð ]eò _ûYò_ûMe jûeûjûeò @aiÚûKê ùijò @ ke __________ Kj«òö 

The average climate of an area throughout years is known as _____________ . 

Q31. K‰ðûUKe ______________  Vûùe iê^û LYò @Qòö 
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Gold mines are there at ______________ in Karnataka state. 

Q32. ______________  cé òðKûùe bf K_û Pûh ùjûA[ûGö 

 ______________ soil is suitable for cotton cultivation. 

Q33. aêUþ jûCiþ bûeZùe ______________ cêLý ^Meúùe @Qòö 

Boot House is situated in ______________ city of India. 

Q34. ùKûfKZû ______________ ^\ú Kìkùe @aiÚòZö 

Kolkata is situated at the at the book of ______________ river. 

Q35. ZûR cjf @ûMâûe ______________ ^\ú Kìkùe @aiÚòZö 

Taj Mahal in Agra is situated at the bank of ______________river. 

Q36. ____________ iÚû^ùe bûeZ cjûiûMe, aùwû_ iûMe I @ûea iûMe GKZâ còkòZ ùjûAQ«òö 

The place where the Indian Ocean, Bay of Bengal and Arabian Sea meet is 

______________ . 

Q37. Zâò_êeûe _â]û^ bûhû ùjCQò ______________ö 

The major language of Tripura is ______________ .  

Q38. @ûc ù\ge Pûjò\ûVûeê @]ôK C_ô^ ùjC[ôaû \âaýMêWÿòK @^ýù\gKê _Vû~òaûKê 

______________Kj«òö 

Transporting the excess product of our country to other countries is known as 

______________ . 

Q39. ______________ ciòjûùe bûeZùe _â[c iò_ûjú aòù\âûj ùjûA[ôfûö 

The Indian Rebellion (Sipahi Bidroha) was started in India in the year 

______________ . 

Q40. 1919 ciòjû G_òâfþ 13 ZûeòL \ò^ _¬ae @céZ ijeùe ______________ jZýûKûŠ NUò[ôfûö 

On 13 April 1919 the massacre that happened in Amritsar, Panjab is known as 

______________ . 

MATHEMATICS 

Q1. ù~Cñ ùKûYe _eòcûY 00  eê @]ôK I 090  eê Kcþ, ZûjûKê ______________ ùKûY Kêjû~ûGö 

An angle greater than 00 and less than 090  is ______________ angle. 

Q2. \êAUò ùKûYe _eòcûYe icÁò 0180  ùjùf, ùi ùKûY\ßdKê ______________ Kêjû~ûGö 

Two angles whose sum measures 0180  are known as ______________ . 

Q3. ùMûUòG ùKûYe _eòcûY 020  ùjùf, ùZùa Zûjû ______________ ùKûYö 

If the measure of an angel is 020 , then the angle is ______________ angle. 
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Q4. ù~Cñ iõLýûùe ùKak \êAUò  MêY^údK [ûG Gaõ ùicû^u c¤eê ùMûUòG 1 I @^ýUò ùijò iõLýû 

^òùR, ZûjûKê ______________ Kêjû~ûGö 

A number which has only two factors, 1 and  the number itself is known as 

_____________ . 

Q5. ______________ GKcûZâ iõLýû ~ûjû ùcøkòK Kò ù~øMòK ê̂ùjñö 

______________ is the number which is neither composite nor prime. 

Q6. ______________ GKcûZâ ~êMà ùcøkòK iõLýûö 

_____________ is the only even prime number. 

Q7. ùMûUòG iõLýûe ______________ Uò MêYòZK [ûGö 

A number has ______________ multiples. 

Q8. ùMûUòG ùKûVeúe ù\÷Nðý 12 cò. I _âiÚ 8 cò., ùZùa Gjûe ùlZâ`k ______________ ö 

The length and the breadth of a room are 12 m and 8 m respectively. The area of the 

room is ______________ . 

Q9. ùMûUòG @ûdZùlZâe ù\÷Nðý 14 ùi.cò. I _âiÚ 12 ùi.cò ùjùf Gjûe _eòiúcû ______________ö 

 Length 14 cm, breadth 12 cm, perimeter = ______________ . 

Q10. ùMûUòG aMðùlZâe ùlZâ`k 49 aMð ùicò ùjùf Gjûe aûjêe ù\÷Nðý ______________ö 

The area of a square is 49 cm2, then its side is ______________ . 

Q11. ùMûUòG aMðùlZâe _eòiúcû 48 ùi.cò ùjùf Gjûe ùlZâ`k______________ ö 

The perimeter of a square is 48 cm, then its area is ______________ . 

Q12. ùMûUòG aé e aýûi 8.4 ùi.cò. ùjùf, Gjûe aýûiû¡ð = ______________ö 

The diameter of a circle is 8.4 cm. then the radius of a circle is ______________ . 

Q13. ùMûUòG @ûdZùlZâe _âZòic @l iõLýû ______________ö 

A rectangle has ______________ lines of symmetry. 

Q14. ______________ RýûcòZòK PòZâe aûjê Kò´û gúhð ^[ûGö 

The ______________ has no sides and no vertices. 

Q15. ù~Cñ RýûcòZòK PòZâe 3 Uò aûjê, 3 Uò ùKûY I 3 Uò gúhðaò¦ê @Qò Zûjû ______________ö 

The ______________ has 3 sides, 3 vertices and 3 angles. 

Q16. ~\ò ùMûUòG aé e aýûiû¡ð _â[c @~êMà ùcøkòK iõLýû jêG , ùZùa Gjûe aýûie ù\÷Nðý = 

______________ö 

If the radius of a circle the first prime odd number. Find its diameter _____________ . 

Q17. Pûeòe 10c MêYòZK ij 20 MêY^ Kùf MêY`k ______________ ùjaö 

By multiplying the 10th multiple of 4 by 20 we get ______________ . 
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Q18. aé e aýûiû¡ð 3.5 ùi.cò. ùjùf aýûi ______________ö 

The radius of a circle is 3.5 cm. the diameter of the circle ______________ . 

Q19. ù~Cñ ZâòbêRe Zòù^ûUò aûjêe ù\÷Nðý @icû^, ZûjûKê ______________ ZòâbêR Kêjû~ûGö 

If the length of three sides of a triangle are different, then the triangle is ______________ 

triangle. 

Q20. ZâòbêRe Zò^òùKûYe _eòcûYe icÁò =______________ ö 

The sum of the three angles of a triangle is ______________ . 

Q21. ùMûUòG ZòâbêRe ù~ùKøYiò \êAUò aûjêe ù\÷Nðýe icÁò iað\û ZéZúd aûjêVûeê ______________ö 

The sum of two sides of a triangle is always ______________ than the third side. 

Q22.  ______________ iõLýûKê 8 \ßûeû bûMKùf bûM`k 9 ejòaö 

______________ number when divided by 8 gives 9. 

Q23. ______________ iõLýûeê 752 aòùdûM Kùf Zûjû 252 e 2 MêY ùjaö 

From ______________ number should 752 be subtracted so that the resultant becomes 

twice of 252. 

Q24. ùMûUòG iõLýûe aéj c MêY^údK ______________ö 

The greatest factor of a number is the ______________ . 

Q25. ______________ _âùZýK iõLýûe MêY^údKö 

______________ is a factor of every number. 

Q26. 10850 + 11450 ù~ûM`ke ò̂KUa ðú jRûe iõLýûUò ______________ ö 

Rounding off the sum 10850 + 11450 to the nearest thousand is ______________ . 

Q27. bûeZúd cû^K @^êiûùe iûZ@u aòhòÁ lê\âZc iõLýû ______________ö 

In Indian place value system the smallest 7 digit number is ______________ . 

Q28. @ûùc 2 Gaõ 76 Kê ù~ûM Keòaû Gaõ Zû’ _ùe ùi[ôeê 4 Kê aòùdûM Keòùf iõLýûUò _______ ùjaö 

If we add 2 with 76 and then subtract 4 from it, the number will be ______________ . 

Q29. cêñ \êA@u aògòÁ @~êMà iõLýûö cêñ 3 I 7 e iû]ûeY MêYòZK Gaõ ùcûe 4 Uò MêY^údK @Qòö ùZùa cêñ 

KòG______________ö  

I am a two digit odd number, I am a common multiple of 3 and 7 and I have 4 factors. I am 

______________ . 

Q30. 18345 iõLýûe 3 e iÚû^údcû^ I 3 e iûõLôýKcû^ c¤ùe _âùb\ ______________ö 

The difference of place value and face value of 3 in numeral 18345 is ___________ . 

Q31. ùMûUòG ùcûaûAf ù`û^e \ûc 2729 Uuû ùjùf 33 Uò ùcûaûAf ù`û^e \ûc 

___________ö 
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If one mobile phone costs 2729 rupees, then cost of 33 similar mobile phones is 

_____________ . 

Q32. \êAUò iõLýûe aòùdûM`k 15316ö iû^ iõLýûUò 17388 ùjùf aWÿ iõLýûUò ____________ö 

Difference of two numbers is 15316. If smaller number is 17388. Then bigger number is 

______________ . 

Q33. ABC∆ ùe 0m A 40∠ = I 0m B 60∠ = ùjùf m C∠ = ______________ö 

The angles A∠ and B∠  of triangle ABC are 040  and 060  respectively. The value of angle 

C∠  is _____________ . 

Q34. ~\ò T = 9, O = 8, F = 5, Zû_ùe [ôaû a‰ðcûkû ‘FOOT’ e eûgò MêWÿòKe ù~ûM`k _____ ùjaö 

If T = 9, O = 8, F = 5, then the sum of values of alphabets of ‘FOOT’ is __________ . 

Q35. _âMZòe _ea ðú iõLýû _ìeY Keö        17, 46, 75, 104, ___________ . 

Complete the series 17, 46, 75, 104, ___________ . 

Q36. 36 e icÉ MêY^údKcû^ue icÁò = ___________ö 

The sum of factors of 36 is ___________ . 

Q37. 24 e icÉ MêY^údKcû^ue MêY`k  = ___________ö 

The product of all the multiples of 24 is ___________ . 

Q38. 15 e aéj c I lê\âZc MêY^údK \ßde icÁò ___________ö 

The sum of the largest and smallest multiples of 15 is ___________ . 

Q39. ùMûUòG ZòâbêRùe @Zò Kcþùe ___________ Uò iÚìkùKûY ejò_ûeòaö 

A triangle can have at most ___________ obtuse angle(s). 

Q40. 12, 15 I 30 e f.iû.Mê = ___________ . 

LCM of 12, 15, and 30 is ___________ . 
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